AShHpL-VWENST OV, BREX RO

FAMX R3.12837E
& B N
15 SR i3 i3] = MFiis | FoA| SmE FBNE
(BLHOIEH) H

1 [shsLvnznsyorso—. =TH [FOELRFR %6 FEINIER |11 ~12% = BHETRRE 25 [E300 |&E-I-&RE%
2 |shsvnsnsgousn=.m 5T [(HFO=T HELRHR F6 $EIKIER | 13~168F = BEHETASE 50 [E300 |&E-I-&RE%
3 |shpLnEnEyOUHONSE |HONREE 6 EINER | 11~12% = EHETRRE 30 [E1300 |(S&-F|-ERME. Tk (K)
4 [NURRLORNUERLTTOA) |FOESA A2 FE1-3FER| 10~128% = Hh X 1 17515 15 A1500 [I\URRLTFZUHUT)IL
5 [Fxvnov HOKXFT %6 10~ 128 i b X 41 175328 20 0 |BEREYD/INY
6 |HEEYOY FOKRA E3 37 N olll ESLIERIE SRR = b X 41 175328 10 0 |(EE
1 |BUOSEFIVFKE EIEFIERN Hirel | #iasA | 6%~6:40 =) Hh X 1 {7515 20 0 SUFKIE
8 |EIHTEH=E HOKXA A4 BENER 19~21 =) Hh X 1 7515 10 EE |£EEZBELTER
9 |HOMRLMR SOFKE |HOLE 1E5 A~% 634 ~6:40 =) Hh X 1 7515 20 0 SUF KR
10 ELT Lna%=E FOKRM A1 FEANER | 10~1285 = Hh X #1772k 10 A1000 JELTAIFAC
1 (FOLEHRELBES  |sto%sm A4 | mEAEE | 0~1E | B | mEamE | 0 | A0 [EakE
12 |kKB& ATEB&SM B2 £ A~% 9~ 16HF = Xt s 15 0 [ snmsmmrr o, omanommie
13 [E1HFR JAFAXE A1 #EAKRER | 133 ~158F = X g2 15 30 [[]200 |EmAE
14 |3#0O1E25D8K FONRE B BEARER [ 133 ~15% = X iz 215 15 A100 |Emikig
15 |HOLREMRERIIFR HOLRE B2 |mBEA-L@A| 13~178F = X iz & 15 15 HA500 |Fk#E




